PLANT ENTERPRISES PRODUCTION							
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value	
COTTON							
Lint - Non-irrigated		198.5	1,575.00	312,637	lbs.	\$162,571	
Seed - Non-irrigated		198.5	2,520.00	500,220	lbs.	\$27,512	
Cotton (Total)	*	198.5				\$190,083	
FORESTRY							
Pulpwood							
Pine				12,533	cords		
Hardwood				33,474	cords		
Pulpwood (Total)				46,007			
Chip & Saw				3,297	cords		
Saw Timber							
Pine				2,315,266	board feet		
Hardwood				3,749,213	board feet		
Saw Timber (Total)				6,064,479			
Total Pulpwood, Chip & Saw, Saw Timber FOB Mill						\$5,984,547	
Total Forestry Stumpage						\$3,057,916	
Christmas Trees	*			200	trees	\$8,000	
Forestry Seedlings	*	21.0	95,238.00	1,999,998	seedlings (1,000)	\$70,000	
Forestry (Total)		21.0			,	\$6,062,547	
FRUITS		• •	7 00.00	1 0 0 0		¢1.0.50	
Blueberries	*	2.0	500.00	1,000		\$1,250	
Peaches	*	2.0	150.00		bu.	\$9,000	
Pears	*	3.0	40.00	120	bu.	\$1,440	
Fruits (Total) FEED GRAINS		7.0				\$11,690	
Corn	*	1,015.0	100.00	101,500	bu.	\$232,435	

Page 1 of 4

PLANT ENTERPRISES PRODUCTION							
	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
Feed Grains (Total)		1,015.0					\$232,435
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	2,880.0	5.00	Yield / sq. ft.	14,400	lbs.	\$19,440
Greenhouse Vegetables (Total)		2,880.0					\$19,440
HAY FOR SALE							
Grass	7	140.0	4.00		560	tons	\$28,000
Hay for Sale (Total)		140.0					\$28,000
HOME GARDENS	250						\$75,000
NURSERY CROPS							
Woody Ornamentals	*					acre	\$200,000
Nursery Crops (Total)							\$200,000
PECANS							
Native	30	200.0	220.00		44,000	lbs.	\$26,400
Pecans (Total)		200.0					\$26,400
SOYBEANS	*	1,881.6	45.00		84,672	bu.	\$563,069
VEGETABLES							
Collards							
Fresh	*	1.0	500.00		500	doz. bunches	\$3,500
Collards (Total)		1.0					\$3,500
Cucumber							
Fresh	*	1.0	400.00		400	bu. (50 lbs.)	\$4,000
Cucumber (Total)		1.0					\$4,000
Eggplant	*	2.0	450.00		900	bu. (33 lbs.)	\$13,500
Irish Potatoes					• • •		* * * * * *
Fresh	*	2.0	170.00		340	cwt.	\$10,200
Irish Potatoes (Total)		2.0			4		\$10,200
Mustard (Fresh)	*	2.0	500.00		,	doz. bunches	\$7,000
Okra (Fresh)	*	1.0	125.00		125	bu.	\$2,500

PLANT ENTERPRISES PRODUCTION						
J	umber of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Peppers						
Bell	*	1.0	600.00	600	bu. (28 lb.)	\$9,000
Peppers (Total)		1.0				\$9,000
Snap Beans (Fresh)	*	1.0	100.00	100	bu. (30 lbs.)	\$2,000
Southern Peas (Fresh)	*	1.0	75.00	75	bu. (24 lbs.)	\$1,500
Squash (Fresh)						
Yellow Squash	*	1.0	120.00	120	bu. (45 lbs.)	\$1,440
Squash (Fresh) (Total)		1.0				\$1,440
Tomatoes (Field)	*	2.0	1,500.00	3,000	lugs (20 lbs.)	\$45,000
Turnips (Fresh)	*	1.0	400.00	400	doz. bunches	\$2,800
Watermelon	*	2.0	180.00	360	cwt.	\$2,160
Vegetables (Total)		18.0				\$104,600
WHEAT	*	613.8	59.00	36,214	bu.	\$116,609
TOTAL ALL PLANT ENTERPR	RISES			,		\$7,629,873

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
FUR ANIMALS			26	pelts	\$138
ALLIGATORS (WILD)			127	ft.	\$2,805
HUNTING LEASES	190	190,000 No. Acres		acre	\$2,470,000
		Leased			
TOTAL ALL FISHERIES & WILDLIFE ENTERPRISES					\$2,472,943

ANIMAL ENTERPRISES PRODUCTION

WEST FELICIANA I F	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES Steer Calves						
400-500 lbs.				434	head	\$181,414
500-600 lbs.				1,200	head	\$551,364
600-700 lbs.				450	head	\$234,000
Steer Calves (Total)						\$966,778
Heifer Calves						
400-500 lbs.				205	head	\$77,278
500-600 lbs.				900	head	\$383,328
600-700 lbs.				700	head	\$341,250
Heifer Calves (Total)						\$801,856
Cow-Calf Pairs					pair	\$90,000
Cull Cows					head	\$72,650
Cull Bulls				22	head	\$16,071
Cattle & Calves (Total)	85	4,700	No. Cows			\$1,947,354
HORSES						
Brood Mares						
Show Horses	25		No. Brood Mares		head	\$495,000
Recreation Horses	100	375	No. Brood Mares	300	head	\$450,000
Brood Mares (Total)						\$945,000
Show Horses	25				head	\$300,000
Recreation Horses	600			900	head	\$900,000
Horses (Total)						\$2,145,000
SWINE						
Slaughter Hogs				22	head	\$2,717
Swine (Total)	12		No. Sows			\$2,717
TOTAL ALL ANIMAL EN						\$4,095,071
WEST FELICIANA PA	ARISH TOTAL					\$14,197,888

Page 4 of 4